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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question

shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off. '
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Ql.

(a)

(b)

WQUs A
SECTION A

GIHR ! Toh o e 4 e oy dwie 3R e @ feen @9y R
feufa & 7o foamo 29 % TE @ R | o 85% HufEl, St e s @
T fereRor S 1 Y el €, 39 @i qf Ul | S S st ot
1 T faawor g7 &1 v TE et } 3T 38 e ol 3R g9 W "wrE
T 5% & | 98 AFAW @ mn ? 6 fRet Ru ge wwm # Sew 59
Eﬁwﬁmaﬁaﬁmsﬁrwﬁaméﬁﬁaﬁmwﬁél

w56 € st Hf et & oihewr # w7 dwiwA I o T R 1w g R

5 9% = sramay i & R (I € ot & ot awes o 1ot ot 1 Terd

foramm 2% 1 wImm = @ R) 2

A regulatory body of the government has observed that a particular
accounting error tends to be associated with an attempt to misstate
financial position. Approximately 85% companies attempting to misstate
their earnings will commit this accounting error. For a company not

trying to misstate its earnings, the likelihood of making this error is*

approximately 5%. It has been estimated that the percentage of
companies attempting to misstate earnings at any given time is only 5%.

Suppose that in an audit of ABC company, the accounting error is
discovered. What is the probability that it is not an inadvertent mistake
(ie. ABC company. has actually been attempting to misstate its
earnings) ?

TH HEFR § ¢ T TR H1 A1eT fsha gew T 22,00,000 ® | SHEE #5

A e T 2,00,000 } | 3 FR H 81 7€ ¥R W A fshl 1 agfoew

o forn

() 39 91q s w1 GHEET 2 o6 i & wen fassa g € 25,00,000 @
TS R ?

() TR % 10% ¥ W, 6 Faa =Fan 1, 1 Afiesan faska geg =0
2°?

The mean selling price of new affordable homes in a metropolitan city is

¥ 22,00,000. The population standard deviation is ¥ 2,00,000. A random
sample of 81 new affordable home sales from this city was selected.

1) What is the probability that the sample mean selling price was
more than T 25,00,000 ?

(ii) What is the maximum selling price of 10% of affordable home
sales in the city whose prices are the lowest ?
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Cumulative Standardized Normal Distribution

gt wrehigha | fere

TABLE

arferept

A(z) is the integral of the standardized normal
distribution from — = to z (in other words, the
area under the curve to the left of ). It gives the
probability of a normal random variable not
being more than z standard deviations above its
mean. Values of z of particular importance:

e T
1.645 0.9500 Lower [imit of right 3% tafl
1960 09750  Lower limit of right 2.5% tall
2326 09900 Lower limitofright 1% tail
2576 09950 Lower limiz of right 0.5% tail
3.090 09990 Lowerlimit of right 0.1% tail

3291  0.9995 0.05%
4
3 0.00 0.0 0.02 0.03 0.04 0.05 0.08 0.07 0.08 0.09
00 05000 05040 05030 05120 05160 05199 05239 05179 05319 05389
01 05198 05638 03478 05517 05557 0599 03636 05675 05714 05753
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03 06179 06217 06255 06293 06331 06368 06406 O 6443 06480 08517
04 06554 06591 06628 06664 06700 06736 06772 0.6808 0.6344 06879
05 06915 06950 0698 07019 07054 07088 07123 07157 0.7190 0.7224
06 07257 07291 07324 07357 07389 07422 07454 0.748 07517 0.7549
07 07580 07611 07642 07673 0.7704 07734 07764 07794 0.7823 0.7852
08 0.7881 07910 0.7939 0.7967 0.7995 0.8023 {.8051 0.8078 08106 0!133
09 O0B8IS9 08186 08212 08238 08264 08289 0831 08340 08365 03389
10 08413 08438 08461 08485 O08S0B 0.8531 08554 03577 OB599  ORE21
11 08643 08665 08686 08708 08729 08749 03770 08790 08810 03830
12 08849 08869 08888 0897 08925 08944 08962 03980 08997 05018
13 09032 09049 05066 05082 0909 09115 09131 05147 09162 09177
14 09192 09207 09222 09236 09251 09265 05279 09292 0.9306 09319
15 09332 09345 09357 09370 09382 09394 05406 09413 05429 0.944}
1.6 0.9452 0.9463 0.9474 0.94584 0.9493 0.9505 0.9515 0.9525 00535 0. 9545
17 009534 09564 09573 09582 09591 09599 09608 09616 09625 0:9633
18 09641 09649 09656 09664 09671 09678 09686 09693 09699 9708
19 09713 09719 09726 09732 09738 09744 09750 09756 09761 09767
20 09772 09778 05783 09788 09793 09798 09803 09808 09812 09817
21 09821 09826 09830 09834 09838 09842 09846 09850 0.9854 05857
22 09361 09864 09868 09871 09875 09878 09881 09884 09887 0989
235 09893 09896 09898 09901 09904 09906 09909 09911 09913 09916
24 09918 09920 09922 09925 09927 09929 09931 09932 05934 0.9936
25 09938 09940 09941 09943 09945 09946 09948 09949  0.9551 09952
26 09953 09955 09956 09957 09959 09960 09561 0992 09963 09964
27 09965 09966 09967 09968 09969 09970 09975 09972 05973 099N
28 05974 09975 09976 09977 09977 09978 09979 O 9979 09980  0:9981
26 09981 09982 09982 09983 09984 09984 09985 09985 09986 0.9986
30 09987 09987 09987 09988 09988 09989 09989 09989 0.999 0.99%
31 09990 09991 09991 09991 09992 09992 09992 09991 0999 0.9993
32 09993 09997 05994 09994 09994 09994 09994 09995 0.9995 09995
33 09995 09995 09995 0999 09996 09996 0999 09996 09996 09997
34 09997 09997 0.9997 09997 09997 09997 09997 09997 0.9997 09998
35 09998 09998 09998 09998 09998 09998 09998 09998 09998 09998
36 09998 05998 0.9999
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(© fomivw gl 1 yea Stwm w1 R 2 THE ww @ ahet Fn € 0 s
ITEIHAT Tt THATIT |

What is the main purpose of an expert system ? What are its advantages
and disadvantages ? Explain its architecture. 10

(d) aﬁﬁg-lgaéwﬁmﬁ%m%waﬁﬁﬁwmﬁ%w-w
IJeH @ ¥ ?

What have been the contributions of expert systems with respect to
management of COVID-19 pandemic ? 10

(e) TH Wo-fmivr aREioT it wvg-awoft Prefafes 2

PR | amw | TRRRO

JE=19 2 3-7 5

1-3 2 4-6 3

1-4 1 5-8 1

2-5 4 6-9 5

3-6 8 7-8 4
L 8-9 3

S9YH T (Heah) Wi wd mom A

()  wifas 9y (Gelwa o) o sudht smafy
() eI fafafy % fe wmm ww (Qew wie)

(i) afg nfafafy 7 — 81 UHI 6 HIE T FQMT AT 8, Al T Hifd® 99
(mm)mm?ﬁﬁ,ﬁwﬁmw(mm)
G ?
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A building project has the following time schedule :

Activity i ’Ir;lf,r:lihs) Activity (in rrl;i::rllihs)
1-9 9 3-17 5
1-3 2 4-6 3
1-4 1 5-8 .
2_5 4 6-9 2
3_6 8 7-8 4

8-9 3

Draw a suitable network and calculate :

@)
(ii)

(iii)

Q2. (a) @)

(ii)

(iii)

@iv)

(D)

URC-B-MGMT

Critical path and its duration
Total float for each activity

If the duration of activity 7 — 8 is increased to 6 months, will the
critical path change ? If yes, what is the new critical path ?

“Fr T TeR TEq WiHifae TR o fulaa @ 17 T fifve |
AW TG I F A I T HA B e B B geliag

- hT |

fiams wa@E g ymte (Hfsfees) wmm & @ 3 a1 = '
HIRTT | I A, T8 A TS H ITIHAT I Th I G |

T 1 TH-UH Q@ od g¢, W ", A A T SAvEferd
Hrei/ae IR Hifg | omu fRh fafmioh s # @ rfreraw
it (fe) & == T 8 2 Trse hifvg |

“Goar TIBIER U9 Heu foveNu AN SEad e H s Heeul
fiehT 31 L & |7 R | 'Hemiy |

“Plant location is the most important strategic level

decision-making.” Explain. List down important factors to be
considered for locating a new steel plant.




(ii) Explain the advantages and disadvantages of preventive and
predictive maintenance. Give one example of suitability of each of
these in industry. 5

(iii) Define scrap, surplus and obsolete items, giving one example of
each. How can you maximise return from these in a

manufacturing unit ? 5
(iv) “Value Engineering and Value Analysis play very important roles
in cost minimisation.” Elaborate. 5
(b) 3-ETHR 3N IIEF § FAT AW 8 ? FA1 A9 e § Fh gfem s A i 3
3-8RI A Ty g i R 2

What is the difference between e-government and e-governance ?
Do you think, across the world, countries have achieved satisfaction in
e-government ? 10+5=15

() TS TSA I9 @Wreed faumr 34 SRAERRE gdaardt ggmit Hi STt & foe
T 40,00,000 famm & fow sreifea fbg & | Q@ yopR F fammoA SwwT fu
STE ;e I TmERTE | IR WA fomE | Ara T 20,000 R UgE
3000 AP q% STHM T T 8§ | Y% W99 | fosme @ma
T 50,000 3R TFF 7000 AT T FAIAH TN TN R | I w@wey fawm
o AfEE 6 A G ', G | SAE ARl s ugee i
Hal, g A @t 3 Folg forn @ 7% $r-890 10 fommH, Q1% TRR %,
3T fohn Smdn | wny &, e fammoAt < den w0-8-wn garaR-as fammest
H TE F T Q|

Y% YHR & fora fasmei 1 swEm R Se 2 9y fhaR @it 9o wEe
I ? SAgEAa (38a) uYE e S weft enavEsaredt # ged e
TE q g @ ¢ |

A State Public Health Department has allocated ¥ 40,00,000 for
advertising information on Coronavirus pandemic. Two types of
advertisements will be used : Radio and Newspaper. Each radio
advertisement costs ¥ 20,000 and reaches an estimated 3000 people.
Each newspaper advertisement costs T 50,000 and reaches an estimated
7000 people. In planning the advertising campaign, the Public Health
- Department would like to reach as many people as possible, but they
have decided that at least 10 advertisements of each type must be used.
Also, the number of radio advertisements must be at least as many as
the number of newspaper advertisements.

How many advertisements of each type should be used ? How many
people will this reach ? Find the optimal solution that best satisfies all
requirements. , 15
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Q3. (a) SOl S T FEERT P YE FAT TR § 9 I WK ¥ T FEw dad
aftee (. Frd.d ) & R weEm @ w6 § | @R, F st
it TR STaE T oA H § N T WEY 34 & | A oA
i Fo wua ad ¥ | damd R, F ou sfefel 3 S a forr i
9% g Yeifea et s v Frfafad arferse d R R -

T ferEn Tedifehd A
(et =) (wem)
127 20
59 12
87 21
21 4
60 - 15
121 31
15 3
18 5
27 3
75 17

() IFHA % YR W, =AaH 9 () Y& gfama atea it FHuifa
Hify |

G) Tt e Atea #1 e Fa giafifee w8 ?

Gii) 9w oifwsl % MUR W, Th ARHE 100 fAl & H HE T T
fope el wgTaTe ST 1 qedlich T Tl & ?
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Entrepreneurs who want to start new businesses in a city can seek
ﬁnapcial support from its City Investment Promotion Board (CIPB). The
officers in CIPB evaluate applications for financial support and give
their recommendations. This evaluation process takes some time. The
time spent by the ten officers in CIPB and the number of applications
they evaluated are given in the following table :

Time spent | Applications evaluated
(in days) - (Number)
127 20
59 12
87 21
21 4
60 15
121 31
15 3
18 5
27 3
75 17

i) Based on the information, determine the least squared linear
regression model.

(i)  What does the slope of the linear regression model represent ?

(iii) Based on the above data, what is the approximate predicted
number of applications for financial support that an officer can
evaluate with 100 days of work ?

(b) () TH IR H PE FFFAT FA b U Wy Radwhia @ s
e wmfest (ardE) i oeft same | <X v < aERE ¥ agEm
! ST |
URC-B-MGMT 8
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Gi) Wi Sibemg e 3% w0 & fiu wnfees & foss o & @l
2 | fessl N T @ua 1,350 & @ T fes Y @@ T 338 1 T
IR & fes @lie i TG T ST oew T 11 B T @ i Ara

fesa h) AT 1 22% 2 |

o Wl H Fraw TR | W@ ¥ fu wh 9r § fohaa fesat 1 omew
(aATd) & =few 2 (Feheam ot e i)

o Fm g@ s fha T R, 6 wElha i1 Sewel a1 SgE
i |

e IR YRS Faw 25 F ok # & fE S B, @ @ HFEA R
50 F¥ET 75 Giied =fEy ?

63) List down Variable and Attribute control charts used to monitor
quality of a product. Explain the use of “ X ” and “p” charts. 5

(ii) Morton Confectioners buy plastic boxes in bulk and use them to
pack biscuits. Annual requirement for the boxes is 1,350 and each
box costs ¥ 33. Ordering cost is estimated to be ¥ 11 per order
and carrying cost is 22% of the cost of the box.

e How many boxes should be ordered at a time so as to

minimise the expenses ? (Take nearest whole number) 3
e Mention three assumptions that are associated with' the

formula used. 2
e If the supplier sells the boxes only in lots of 25, should the

company buy 50 or 75 ? 5

() Afhel 99 (ITWF) N he U ATHST T WS FHl il & ?
HeyTcHs 3ifhel €99 Yo dgfd (M AN wmem.) # afersd wa &=
(Fres) 71 § 2 wrafiep St 1 § 2 SR (k) it @ B 2 fageh it
T 23S TR 7908 F TS THR HI GHAE |
When is a database known as a relational database model ?
What are tables and fields in a Relational Database Management
System (RDBMS) ? What is a primary key ? What is a unique key ?
What is a foreign key ? What is a join ? Explain each type of
join. 2+3+2+2+2+2+2=15

Q4. (a) IHHA FEEA fEem @Gemdt) @ 2 Semdt. ughi w wgfaw
TRFETETER ST (Aediuel AiTeaRR UfTeTehe) § R =R € ? arht
atn fRieA (wamd. 1) w fatmin gom fees (wemdt. 1) o
FIT-HAT IR 8 ?
What is Enterprise Resource Planning (ERP) ? What are the differences
between an ERP system and multiple software applications ? What are
the differences between Material Requirements Planning (MRP I) and
Manufacturing Resource Planning (MRP II) ? 5+10+5=20
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(b) T fufeheare % Wnfagm (Yeiiettsht) sEmeen @ wie dmfamrh (QeharRee)
@ | et fomdiy whieror % fore sevremen # Wi T R o agfRew @ @ o
} et T &1 dw s} | fed 7R F e s e w1 geaie
frefefaa omm 3ar @, St 9 @ o wwofi § €

fegr (Yeerione) T i o il 3
T e wheon 6 Ten 850 | 1000 | 750 | 900 | 1050
gidafea (faids) Ffeat it den 12 15 11 17 10

fafercame & s S =mea € 6 == uie Anfasnfaen ot @ 1o Qe
viigror 7 gt o e fir @

39T T ¥ SUIH I[F W6 Ahlcus TNHeTTIS # oSt | IReReTT @i
& 5% HE™ TR W HIRT ta qRoms 1 quie hifvm |

Afetent
x2 (TSR forawn : o2 % fafua goa
g H &N
L=RECHCT]

VY 5% 1% 0-1%
1 3-841 6:635 10-828
2 5-991 9-210 13-816
3 7-815 11-345 16-266
4 9-488 13-277 18-467
5 11-070 15-086 20-515
6 12592 16812 22458
& 14-067 18475 24-322
8 15-507 20-090 26-124
9 16-919 21-666 27-877
10 18-307 23-209 29-588
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The pathology laboratory of a hospital has five pathologists. Samples
arriving at the laboratory for a particular test are randomly assigned to
one of them. An evaluation of the performance during the previous
month gave the following counts shown in the table below :

Pathologist A B C D~ E
Number of tests done 850 1000 750 900 1050
Number of reported errors 12 15 11 17 10

The director of the hospital wanted to know whether the proportion of
errors in the pathological tests assigned to the five pathologists differ.

State appropriate null and alternate hypotheses for the question above.
Carry out the test of hypothesis at 5% level of significance and describe

the result.
Table
%2 (Chi-Squared) Distribution : Critical Values of ¥ 2
Significance level
Dfiiflif;’f 5% 1% 0-1%
1 3-841 6:635 10-828
2 5-991 9-210 13-816
3 7-815 11-345 16-266
4 9-488 13-277 18-467
5 11-070 15-086 20-515
6 12-592 16-812 22-458
7 14-067 18-475 24-322
8 15-507 20-090 26-124
9 16-919 21-666 27-877
10 18-307 23-209 29-588

URC-B-MGMT
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(¢ FHR & 7E arferert | 91t st 9 TieEl 1, 2T 3 H ¥ YAS § dNIR T, off T
# 7% A (fEed) H gfa 3w arE (T ) TEA B | I8 TS MW §
39T HIeT (i) T Tedish STk ht [i sl off vefia et 2 |

L T bl @ (&)
e 1 23 21 27 14
e 2 26 25 15 12
A 3 20 21 21 13
10| 11 14 14

@)  Ris gva gayE T 3w S fafy @ e )

(i) YRR @rTa 6 TET HIRT |

(i) SHeH (STAH) AN T TS MEGH | T TWR q 5 el
%! T IR |

The table given below gives the cost per unit (in ¥) for transporting
goods from each of three depots 1, 2 and 3 to markets A, B and C. It also
depicts stock available at each depot and demand at each market.

Market Market Market Stock
A B C
Depot 1 23 21 27 14
Depot 2 26 25 15 12
Depot 3 20 21 21 13
Demand 11 14 14
1) Get initial feasible solution using North West Corner method. 4
(i1)) Calculate initial cost. 2

(iii) Find out optimum cost and allocations from each depot to each
market. 9

URC-B-MGMT iz -




Q5.

Qeé.

(a)

(b)

(c)

(d)

(e)

(a)

WU B
SECTION B

“wrftfae e | o9 F= gEE B 2 WHifts Sew % e % At awt
%l T8 I |

What do you understand by “Strategic Intent” ? Explain the various
elements in the hierarchy of Strategic Intent.

Afves fawvm wHifel & w8 ge wifter € 2 Afvas fawom worifet &6
SFHACT & HRUN Hl TF hiT |

What are the issues involved in Global Marketing Strategies ? Explain
the reasons of failure of Global Marketing Strategies.

“epifers-19 weeTdt TR *1 @Y ST W gfded I9E TS § |7 3@ HUT |
feogeft hifste |

A TR g ARG H @Y U9 HeIW I 1 HEhed i ¥g AT T
Hifcra 3arn i @ hifse |

“Small scale industries have been adversely affected by the COVID-19
pandemic.” Comment on the statement.

Discuss the policy measures adopted by the Government of India to
rejuvenate small and medium industries in India.

wHifd % wRTeE % @99 qiadd yeud ° afiifad geg g8 ) fea=n
Hifo |

Discuss the major issues involved in managing change at the time of
strategy implementation.

i ST foh fha ToPR T $oa e fordll st sHaam = dfvaw
TR T 3R Afere et & @ wfaeugh e § ggrEdr s dehar @ |

Describe how an efficient logistic function can help an international
business compete more effectively in the global marketplace.

Wi sy giean 3 gaterofiy st (ef) % a5 =t e i |

3 "gemi i foasmr hifve o w waieefie s (whf) & foe fem @
l HATEIRA 3 | A9 THg & Rt TeT &g TH W9 AR duR
HifSm |

Explain the importance of Environmental Scanning in the process of
Strategic Management.

Discuss the factors that need to be considered for Environmental
Scanning. Prepare a comprehensive ETOP for any organisation of your

10

10

10

10

10

choice. 5+5+10=20
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Q7.

(b)

(c)

(a)

(b)

(c)

faeeh gor fem v faesh qg1 gom (Tweasr) it we 6l | fafim TR
% foeeh g1 goE! (wrearsE) w1 guia Hifse | el g ifedt st wa
Haferd & Thd & ?

Explain foreign exchange risk and foreign exchange exposure. Describe
the various types of foreign exchange exposures. How can foreign

exchange risks be managed ? 3+6+6=15
@ 3 ae N @ Afve FR W S ol St § o= wm o
Tt 8 |

(i) YRR THY (AM) SR U6 Teh T o st gefistor amsia 6 gr
49 % yq@ Frnfig i % ge A wse A |

@{) Discuss the ways in which State can participate in the economic
life of a country.

(ii) Explain the major Corporate Governance issues addressed in
Clause 49 of the Listing Agreement between a company and
Indian stock exchanges. 6+9=15

FARE AN AT FF BT A Ry amm A B 1=
IR W U B B AR T WA 1 gvia hife | SR @99 7
a1ge o faftm Hiferra syt f gféra faa=mn fifve |

Explain the objectives around which India’s Foreign Trade Policy has
been framed. Describe the strategies adopted to attain these objectives.
Discuss briefly the various policy measures adopted for Trade
Promotion. 4+6+10=20

g i & A fawemw & “aiw witv gfvam (visa)” &1 avie iR |
30 ol @ gagmsy S S @ B ges % fae 3 et wew
TG H i Fdt F |

Describe Michael Porter’s “Five Forces Model” of Industry Analysis.

Explain the way in which these forces interact with each other to
unravel the industry structure. 15

Ieierstl H Rrerdl F gur 39 T Suder e AfufEm § Iueey
g7 (wefd) =1 ool hNE | 39 93 F SR F STAHIHS e
Hifre |

Describe the machinery available for redressal of the grievances of the
consumers under the latest Consumer Protection Act. Critically evaluate

the functioning of this machinery. : 15

URC-B-MGMT 14




Q8. (2 “fafadiror syagm St ity § wata giads wfter o1 @ 17 38 o9
feoaoft Sifse | wRefla widiea grr 3tuaTd S areht fafdediermr wHiftRl %
YR § I HIUN hl TT HIfHU |

“Diversification involves a substantial change in business definition.”
Comment on the statement. Explain the type of diversification strategies

adopted by the Indian corporates and the reasons thereof. 15

(b) g facsh faw @ faesft Sidwifern few % e 3 e Fife | wra
TR g1 918 T8 T fageft faw = snesfia e Y disgr HAifeat s
AT e HIf |

Distinguish between Foreign Direct Investment and Foreign Portfolio
Investment. Critically examine the existing policies adopted by the
Government of India for attracting Foreign Direct Investment. 20

(c) TATSRU W& & 9y § GUhR Ud Faq 6 gl H far & samen
FIRT | 38 T9g ¥ A1 9 g IS T Hedi & GROMHET w1 SATEATHS
TR i | _

Explain in detail the responsibilities of Business as well as Government

with regard to environment protection. Critically evaluate the outcome
of the steps taken by both of the parties in this regard. 15
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